POAW: ['PA', 'Rm']

60 -

50 A

40 A

30 A

20 A

10 -

— PA
Rm

0 50 100 150

POAW: ['Rc']

2.00 A
1.75
1.50 A
1.25 A
1.00 A
0.75 A
0.50 A
0.25 A
0.00 A

0 50 100 150

POAW: ['LfN', 'NdN', "TsN']

30 A

25 A

20 A

15 A

10 -

T
— LfN :
—NdN:
— TsN :

\

POAW: ['LFDW', 'NdDW"', 'RtDW']

0 50 100 150

80 A
70 A
60 -
50 A
40 A
30 A
20 A

0 50 100 150

Model Prediction (P9AW)

POAW: ['CS', 'CD', 'CB']

POAW: ['Ldem’, 'Ndem', 'Rdem’, 'FLdem', 'FRdem']

0 50 100 150

Ldem
Ndem
Rdem
FLdem
FRdem

3.5 1

3.0 A

2.5 A

2.0 A

1.5+

1.0

0.5

0.0 A

POAW: ['LfA", 'LfAH', 'tgtLAlavg']

— LfA
—— LfAH
—— tgtLAlavg

100 150

POAW: ['FIN', 'FrN', 'FrNH']

30 A

25 A

20 A

15 A

10 A

POAW: ['LFDW"', 'FrDW', 'FrDWH'] POAW: ['FrDW"', 'FrDWH', 'adjFrDW', '‘adjFrDWH']

0 50 100 150

250 A

200 A

150 A

100 A

50 A

0 50 100 150

250 A

200 A

150 A

100 A

50 A1

FrDW
FrDWH
adjFrDW
adjFrDWH

100 150

POAW: ['PAT', 'RmT", 'CST']

POAW: ['CST', 'CDT', 'TtDW', "'TtDWH']

4000 A

3000 -

2000 -

1000 A

100 150

2500 ~

2000 ~

1500 ~

1000 ~

500 A

0_

100 150

100 150




POAW: ['LfN', 'NdN', "'TsN', 'tgtLfN', 'prunLfN']

30 A

25

— LfN
—— NdN

- —— TsN
— tgtLfN
—— prunLfN

20

/

15

10

ke

/

-25 0

25

100

125

150

175




25

20

15

10

POAW: ['LfN', 'LfNT', "TSN', "TSNT']

™~

LfN

LfNT
TSN |
TSNT

\
/J /: / \
q%l,—’
S \
[ — |
1
-25 0 25 50 75 100 125 150 175




POAW: ['LfA", 'peakTgtLAl']

—— peakTgtLAl

— LfA

3.5

3.0

2.5

2.0

1.5
1.0

0.5

0.0

175

150

125

100

75

50

25

-25



PO9AW (plot by DAT)

o ?
I 1
1 1
1 1
‘rln‘_
I |
“ !
.
1 ol
Yo o i I
omnwn X
2! l
ERINY
o 2} i
. I !
TS
1 __m“ __ |||||||||||
Lo Fl i h
Pl _ |
1
e 3
1 Y
P !
P !
P 2
I S P
1 " !
1 Ly | |
Pl N |
B e
e P i+
i : _ !
i R !
1 o i
“ " “- |||||
IIIIII F!

B r|||_
I s
| miineh SN }

. |
| S
1 Rt |
e (]
||4“ Yl
2 N
] bt
_l‘ u- ||||||
g I °
rll—_ll
1
| v
I ()]
I Q
_ |h
| -
__Le <
|
__
__
—-
—-
ER RS e 2
_ o
: ©
- 5
||||| o O
o o _ _ _
N~ o R = _ _ _
R @ R A& 3§ °

Buippng a1y sAeqg

60
Days After Transplant » >

40

20



POAW TsN1 (plot by DAT)

r————__.

Harvept

. )

Turn Color

Fruit Set

Anthesis

eeee———@--——%

Budding

70 A

60

T
o
Te}

o o
< m

Buippng 1oy sAeqg

T
o
o

10 A

40 50 60 70 80
Days After Transplant

30

20



POAW TsN2 (plot by DAT)

Harvept

r————_.

Turn Color

_‘_
Fruit Set

Anthesis

Budding

70 A
60 -

T
o
Te}

o o
< m

Buippng 1oy sAeqg

20 A

10 A

40 50 60 70 80
Days After Transplant

30

20



POAW TsN3 (plot by DAT)

Harvepgt

‘ j
(@]
! S
I @]
I c
| -
| . =)
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
IIIIIIIIIIIIII @
|
|
|. ..&
| wn
| +
? s
_. o
|
IIIIIIIIIIIIIIIIIIIIIIII P —
o0d
|
o 0
I 0
I (J]
c
| ]
— n
r||||. <
|
|
|
|
|
|
|
|
|
|
|
|
! (@)}
1 c
I ©
1 °
| =)
e e e e e 9o
T T T T T T T
(@) o o o o o o (@)
~ (o) LN < m (gl —

Buippng 1oy sAeqg

80 90

70

60
Days After Transplant

40 50

30




POAW TsN4 (plot by DAT)

Harvept

® .
| (@]
I ©
| @]
I c
— —
_ll.ﬂ =
|
|
[
[
|
|
|
|
|
|
[
[
|
|
|
|
|
|
[
[
|
|
|
|
|
|
[
[
|
|
|
|
||||||||||||| I‘
b -
]
| w0
r.. =
1 S
_ —
-@ Y+
|
|
[
[
|
|
| L
| (7]
I Q
<
1 -
" c
||||| o <
IIIIIIIIIIIIIIIIIIIIIIIIIIIII U
[
[
|
|
|
|
[
[
|
| o
I £
" o
gl
| ]
[ m
T T T T T T
o o ) o o o
© N < M ~ —

Buippng 1oy sAeqg

70 80 90
Days After Transplant

60

50

40



POAW TsN5 (plot by DAT)

m——————

Harvept

Turn Color

-—@
Fruit Set

100

70

Anthesis

50

60 -

50 A

T
o
<

o o
m o

Buippng 1oy sAeqg

Days After Transplant



)
wn
(V]
>
|-
©
4 I
—_
I o
I o
I O
I c
| >
l-—-@ F
1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
. |
|
= |
e |
|
> |
o] |
] |
o |
[e} |
~ |
O b o I. 4+
(]
3 7 @
2 “ =
2 % E
= '®
(o)) |
o |
|
| %)
| )
| (0]
I S
1 c
I———-9 <
|
|
|
|
|
|
|
|
|
|
| ()}
1 £
| e
| ©
I >
b —— e ) o
T T I T ! !
o o o o Q S ©
o N < m N =

Buippng 1oy sAeqg

70 80 90 100
Days After Transplant

60

50



POAW (plot by adjDAT)
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